W W T T TV W W W _—_—_—_— _—_—_— _—_—_—{—— —_—_— — ;- N W _— " ———

A
VvV
LA
VvV
LA
A
VvV
LA
LA
LA
VvV
A
A
VW
VWV

>>>
>>>
>>>
>>>
>>>
>>>
>>>
>>>
>>>
SOOI
SOOI IDIIOIIOIIDD>
SOOI
TTTTTTTTTTTIIZTTIZTZIZIZIZZ
EZTTTTTZTITITTITIITIZIZIZIZIZZ
Zz
222

mmmwmmmmmwmmwmmmmmmmm
888838388888888

888888888888888

R fd 82D D
L e il
Pt G el L At
e At e
[ o P
L il e
e G P S
et P P o
[ bd Kk WD
L Sl S dud
[ L) e
[ fd e hd

(iA=L L L S LS I (S L =1 [ )
LOUOUOUOUOOOOOOOIOOO
B e e e e A A S L A LS )




*eF ILE*+1D**RECLCTRL
RRRRRRRR EEEEEEEEEE CCCCcCCC LL CCCCCCCC TTTTTTITIT RRRRRRRR LL
RRRRRRRR EEEEEEEEEE ccccccce LL CCCCCCCC  TTTTTTITITT RRRRRRRR LL
RR RR EE cC LL cC 17 RR RR LL
RR RR EE cC LL cC 17 RR RR LL
RR RR EE cC LL cC 17 RR RR LL
RR RR EE cC LL cC 17 RR RR LL
RRRRRRRR EEEEEEEE cC LL cC 17 RRRRRRRR LL
RRRRRRRR EEEEEEEE cC LL cC 17 RRRRRRRR LL
RR RR EE cC LL cC 17 RR RR LL
RR RR EE cC LL cC 17 RR RR LL
RR RR EE cC LL cC 17 RR RR LL csse
RR RR EE cC LL cC 17 RR RR LL ceee
RR RR EEEEEEEEEE CCCCCCCC  LLLLLLLLLL ccccccce 17 RR RR LLLLLLLLLL cece
RR RR EEEEEEEEEE CCCCCCCC  LLLLLLLLLL cccccccc LA} RR RR LLLLLLLLLL ceee
LL 11111 SSSSSSSS
LL 111111 SSSSSSSS
LL 11 $S
LL 11 $S
LL 11 SS
LL 11 S$
LL 11 $SSSSS
LL 11 $SSSSS
LL 11 SS
LL 11 SS
LL 11 SS
LL 11 SS
LLLLLLLLLL 111111 SSSSSSSS
LLLLLLLLLL 111111 SS5S5SSSS




PININIAININININ) = b b b b b b b d b
00 O BS WNN) = © 0 00 O W B LN = OO0 00 0NN S i) —

AR LA TE TR PR TR TR TR TR PR PR TR R TR TR PR PR PR PR TR PR DA LA LR DI TR TR T

N

0

VAX=11 CONVERT/RECLAIM 29-1334 23:58:52  yAX=11 BLiss=32 v4.0-742 - }%

~Sep-1 CONV. SRCIRECLETRL .832; (1|

1 0 XTITLE 'VAX=11 CONVERT/RECLAIM' |

; MODULE RECLSCTRL ( %DEN!='¥06-000'. |

8 OPTLEVEL= |

4 ) = |

005 |

889 ] BEGIN |

883 } :"'"t'!t't'iit.ttt't.'.i"it't'"'Q"".'""""'."t"t'.".'l"".".'.' i
] |

010 1 i* COPYRIGHT (c) 1978, 1980, 1982, 1984 8 . |
0011 1 i DIGITAL EQUIPMENT CORPORATION, HAYNARD MASSACHUSETTS. «
88}§ ] :: ALL RIGHTS RESERVED. .
0014 1 i* THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED
0015 1 i* ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE +
0019 1 is INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTUARE OR . ANV OTHER
0017 1 i COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY #
8813 1 i*= OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS MHEREBY +
0013 ] :: TRANSFERRED. .
]
0021 1 i* THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE
00 3 1 i= AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT
88‘}::cmmnnm. .
! *
0025 1 !* DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS +
0026 1 i* SOFTWARE ON EQUIPMENT WHICH 1S NOT SUPPLIED BY DIGITAL. .
0058 1 i -
b ]
0029 1 i'""""".‘!".tit...t'.tt.t"'"'ittti.'t".'tit.iitt.'.t'ttiiit.'itt.iii
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g } g Facility:
g i ; Environment:
8 } ; Abstract:
g 1
040 1 ! Contents:
1 1!
¢ 1!
§ 1 i
0046 1!
S 31
1!--
0et 1
048 1!
0049 1 ! Author:
0050 1!
0032 1 i
8os§ 1 | Modified by:
054 1!
0055 1! v03-007
0059 1!
0038 1 i
0059 1} v03-006
0061 1 i
§06§ 114 v03-005
1!
1!
0065 1! v03-004
006? i
8823 i g v03-003
i -
-
7 1
7% 1!
O;S } ; v03-001
7? 1 i
78 1!
7 1 'anee
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geelo 23ishise  pAc Bias:

VAX=11 CONVERT/RECLAIM

VAX/VMS Operating System

SCAN_DATA_LEVEL
upoATE,xnssx
REMOVE “BUCKET
2ERO_BOCKET
SWAP_BUFFERS

Keith B Thompson

Peter Lieberwirth Creation date: September-1981

JWT0176 Jim Toaguo 13-Apr-1984
Fix tinka?es to CONVSSWRITE_AREA_DESC and
CONVSSWRITE_KEY_DESC.

KBT0395 Keith B. Thompson 29-0ct=-1982
Add support for prologue 3 sidrs

KBT0358 Keith B. Thompson 6-0ct-1982
Use new merged ctx definitions

KBT0353 Keith B, Thompson 5-0ct-1982
Use new Linkage definitions

KBT0048 Keith Thompson 21=-Apr-1982
Do not reclaim the Last index record in a bucket
KBT0041 Keith Thompson 3-Apr-1982

Add logic to swing index pointers if needed and fix index

save bucket logic

KBT0010 Keith Thompson 16-Mar-1982
Fix a problem with end condition in update_index and
add a few Lines of comments.
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CLSCTIRL VAX=11 CONVERT/RECLAIM 15-5 -1984 23:
V04=060 SEAN DATA LEVEL 12230021384 £3:38
XSBTTL "SCAN_DATA LgVEL'
G&QBAL ROUTINE RECLSSSCAN_DATA_LEVEL : RLSJSB_REG_9 =

3; AX=11 BL "-E%

.o
CONV.SRCIREC .8

L

ot Tipt 1

B R

WIS AN =2 OO0 00 NO WSS AN =2 O 000~V S

Functional Description:

This routine sequentially read along the data level buckets
lookina for an ongty one. If it finds one it trys to remove
the index to it then trys to remove it.

P e e T I Y

VIS AN =2 O 0 00 NOM NV ES WIND = OO0 00 N0 NV S W) =

Calling Sequence:
RECLSSSCAN_DATA_LEVEL()
Input Parameters:

3 3 1 1

: 1 1 1

: 1 1 1!

: 9 1 1!

; 3 1 1!

3 Y 1 1!

: 1 1 1!

3 3 1 1!

: 9 1 1!

: 1 1 1!

: 1 1 1!

Ry 1 1!

: 1 1 1!

k.3 1 1!

; 1 1 1!

s 1 1 1! none

: 1 1 1!

3 } } } 5 Implicit Inputs:

: 1 1 1! BUCKET

: 3 1 1!

e 1 1 ! Output Parameters:
: } } } 5 none

E 1 1 1 ! Implicit Outputs:
;139 1 1! none

s 140 1 1!

;14 138 1 ! Routine Value:

: 14; 139 1!

: 14 1450 1! normal

: 1446 141 1!

: 145 014; 1 ! Routines Called:

3 109 0143 1!

: 14 1% 1! BUCKET_EMPTY
: 148 145 1! UPDATE_INDEX
: 149 16# 1! REMOVE_BUCKET
: 150 0147 1! SWAP_BOFFERS
;s 1N 163 1! GET_REXT_BUCKET
: 1S§ 149 1!

3 13 150 1 ! Side Effects:

: 154 151 1! none

s 1% 1?; 1!

: 159 1 1 le=

: 1; 1;4 i

s 158 155 BEGIN

: 159 1 ?

: 160 1 DEFINE_CTX;

: 161 1 s DEF INE_BUCKET

: }gg } DEF INE"KEY_DESC;
: 164 !g? ! Loop ?ntill the Last bucket in chain if found.
: 165 16; ! 1f this bucket is the Last in the chain don't do it (it is to
2 }2? }g‘ ; complaicated to reclaim this one bucket) instead go to the
: 168 165 WHILE ( NOT .BUCKET [ BKTSV_LASTBKT ] )
: 199 169 [11)

: 170 16 BEGIN
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CONVERT/RECLAIM 1%-5 -1984 23:58: AX=11 Bliss-3
TA_LEVEL 14-8:3-1824 73:14:83 CONV.S%CJ%ECL%

sSEL TRL

<4

Vé4.0-74 P
RL.B3Z; -

1
DA T
; If the bucket is empty the try to remove all traces of it
iF RECLSSBUCKET_EMPTY()
THEN

BEGIN

; Remove the index record for this bucket

%;EgPDAIE_INDEX( .CTX [ CTXSL_CURRENT_VBN ] )

g I1f the update was successful remove the bucket itself
REMOVE _BUCKET ()
ELSE

! 1f index could not be update then swap the buffers in order
; to save the previous bucket

RECLSSSWAP_BUFFERS ()

0 NO WSS AN = OO0 NV SS biN —= OO0 00

END
ELSE

! If the bucket is not empty then swap the buffers in order to save
; the previous bucket

RECLSS$SWAP_BUFFERS();
; Get the next bucket
RECLSSGET_NEXT_BUCKET()
END;
RETURN RECLS_SUCCESS
END;
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LTITLE RESLS&TRL VAX=11 CONVERT/RECLAIM
«IDENT \V04-000\

+EXTRN RECLSSGET NEXT BUCKET
EXTRN RECLSSBUC!ET ERPTY

LEXTRN RECLSSGET DOGN POINTER
LEXTRN RECLSSCHECK LAST

LEXTRN RECL$SSCOMPARE POINTER
LEXTRN RECLSSSWING POINTER
EXTRN RECLSSREMOVE_INDEX_RECORD
EXTRN RECLSSWRITE_BUCKET

.EXTRN CONVSSWRITE_AREA DESC
LEXTRN CONVSSWRITE KEY DES
EXTRN CONVSAR_AREX BLOCK
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: Routine Size:

VAX=11 CONVERT/RECLAIM

SCAN_DATA_LEVEL
11
1"
5
5
50
39 bytes, Routine Base:

18-

14-S

9
Sep-
Sep-

198 f2:38:

«PSECT

3; !Ax-11 Blis V4.0=74 Page

CONV.SRC RECL TRL.B32;
<CONVSRECL_S,NOWRT, SHR, PIC,2

00 A9 E8 00000 RECLSSSCAN gATA s VEL::

00286 38 4
* ot gg ~

2 § §

32

-CONVSRECL_S + 0000

(BUCKET
SCL saucxér snprv
RO, 1%
8(ETX)
UPDA?E INDEX

4 s

zgﬁovs BUCKET
RECLSSSWAP BUFFERS

RECLSSGET _REXT_BUCKET
RECLS‘SCAN DATA_LEVEL
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XSBTTL  'UPDATE_INDEX'
aggtxns UPDATE_INDEX ( VBN ) : RLSJSB_REG_9 =

Functional Description:

This routine ugdotes the lLevel above when a bucket on the lower level
is deleted. When called recursively, it updates the entire index.

Calling Sequence:

UPDATE_INDEX( VBN );
Input Parameters:

VBN - the VBN of the bucket being deleted on the lower level
Implicit Inputs:

BUCKET
KEY_DESC

Output Parameters:
None.
Implicit Outputs:
None.
Routine Value:
SUCCESS or FAILURE
Routines Called:
Aty

SWING_POINTER
REMOVE _INDEX_RECORD
EMPTY

1
GET_NEXT_BUCKET
SWAP_BUFFERS

Side Effects:
None.

DEFINE_CTX;
DEF INEZBUCKET;

OO O O VVAVAVAVAVAVAWAVALASS 85 85 55 85 8 85 85 8 85 L N W N N W AN N NI N RINI NI NININ) =2 b e e e e e ed e 2 O O
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RECLSCTRL VAX=11 CONVERT/RECLAIM :58: - s- .0-
V06-060 UPDATE_SNDEX | TECLAL }! Z3eh-108¢ §2:70:08  VeBny sBtimpciinmi 0304 gy
DEF INE_KEY_DESC.
DEF INE_KEY_POINTER_GLOBAL ;
LOCAL
STATUS
NEXT_DATA_BUCKET;

; Assume success
STATUS = RECLS_SUCCESS;
; Return success if at level with root bucket
IF .BUCKET [ BKTSV_ROOTBKT )
THEN
RETURN .STATUS;

! Before we move up a level get the vbn of the next bucket (when this is
: the data level it will be important)

NE!T_DATA_BUCKET = .BUCKET [ BKTSL_NXTBKT 1J;

; Point the context at the next higher level in the tree

CTX = .CTX + CTXSK_BLN;

; Point to the new bucket

BUCKET = ,CTX [ CTXSL_CURRENT_BUFFER J;

E Save the position in the index so we can come back

CTX [ CTXSL_SAVE_VBN ] = .CTX [ CTXSL_PREVIOUS_VBN J;

5 Search all the buckets on the current level for a down pointer

NN
0
BIXJRES=2S
OO O OOV

233

.....!...........'.'.Q....'................0................
[ Lo Lo To Jo To To To. ] sISNSNSNISNSNSNSNN
nggmgw-agoaﬂombm—'oo

VSN NN =2 © O 00 N VS N = OO 00 NN S LI = O w

P O O O O O P B VTV VWV W NN NN LS NN NN LSS NT N NT ST NS NT NN N NTNT NN NN NN NT N NT XN N N7 N

===
WIND —

FoRES3s

SR

BEGIN

; Is down pointer in current bucket?
IF RECLSSGET_DOWN_POINTER( .VBN )
THEN

BEGIN
lee

[

=
oo~

A LA L NN A AN N AN R A NI NI A PO NI N N
SEIRER288

Vcs. e found tho down Rointor in the current bucket.

' t k to so’ it is t Last pointer in a bucket if so we

c n ro m .

It t is lcvol check to szo if the next 1ndox Rointor points

to tho next data bucket. t doesent we swing current

pointcr to point to the noxt data b ckot. Othoru se we squish

the down ntor. Then t? See ?u shin out th down

ointer made tkot roclo mable. roclo t after
dat ng the ndol |¥ols above this one ts not rtc aimable
ust re-compress the index record follou*ng the deleted doun
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RECLSCTRL VAX=11 CONVERT/RECLAIM 15- -1984 :
O yae come 15-3en-1000 23:5

; pointer and write the bucket back.

8 AX=11 BLiss=32 V4.0=74
2:08  eOny sReIREcLE L8304 ge

~0

5
0 ™

.
.
.
L

; If this is the Last index record in the bucket then don't reclaim it
iF_RECLSSCHECK_LAST() |
THEN

VIS AN =2 O 000~

BEGIN
STATUS = RECLS_FAILURE;
E:%!LOOP

IF_ .CTX [ CTX$B_LEVEL ] EQLU 1
THEN

NN

WN = OOV NOVIS N =000

! Check to see if the next index pointer points to the
E next data bucket

;;ESECLSSCOHPARE_POINTER( «NEXT_DATA_BUCKET )

£ WA M N NN N AN N NN NI RN NINONOND)

=2 O 000NN £ N = O 0 00 NONN S AN = O O 00~ O NV S WD

i=l=lelelelelelalelalal

80

5 It it does, simply remove the current index record
RECLSSREMOVE _INDEX_RECORD ()
ELSE

! If it doesent, swing the current index record to point
; to the next data bucket

RECLSSSWING_POINTER( .NEXT_DATA_BUCKET )

VAVAVAVIWAWA LSS 8 0

AR AV
NN NN

WN = OO0 00 ~NO WSS N

VWAL
O

ELSE
; Squish out the index record in the current buffer
RECLSSREMOVE _INDEX_RECORD () ;
; if this index bucket is empty then lets try to reclaim it!
IF RECLSSBUCKET_EMPTY()
THEN
BEGIN
! If the index bucket is empty, try to update all the
! index levels above.
g If sucessful remove it.
%aEaTA!US = UPDATE_INDEX ( .CTX [ CTXSL_CURRENT_VBN ] )
BEGIN
; If the update was successful remove the bucket

REMOVE _BUCKET();

L A N M U U N N

OO0 NOCWV IR —
[« Mo o Mo Xe e QW IV IV IV IV IV TV IV F o o o o R oF P P B P o I O F O A W IV TV Y W A NN
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VAX=11 CONVERT/RECLAIM 12-129-1332 735?2535 AX=11 Bliss=32 v4.0-74

UPDATE _INDEX 14=Sep-1 CONV.SRCIRECLCTRL.B32;
78 ; Get the next bucket so we don't look at this one again
| RECLSSGET_NEXT_BUCKET()
§ END
4 ELSE
S BEGIN
9 ! If the update failed then we must reread the buffer since
9 3 ; it was modified
§ 39 CTX [ CTXSL_NEXT_VBN J = .CTX [ CTXSL_SAVE_VBN J;
3; ; lero the current buffer vbn to force the read
8 gg CTx C CTXSL_CURRENT_VBN ] = 0;
§33$ ; Get the saved previous bucket
8333 RECLSSGET _NEXT_BUCKET();
0400 EXITLOOP
0401
040 END
040
0404 END
84 S ELSE
20 BEGIN
408 ! bucket is not empty so just write the current

(== L =l=l=]
R R R R R R R R RRRRRRRRRRRRRRRRRR

&858 8 8 B NI N NN WNWWNANNWN 8 S T IIWIIVIVVA S VOOV OV OO OOV OOV O OOV OO OOV OO O OO OO

; buffer back, and return
RECLSSWRITE _BUCKET( CTX [ CTXSL_CURRENT_BUFFER ] );
EXITLOOP
END
END
ELSE

! Down pointer is not in current buffer so read in the next bucket
in the horizontal chain.

]

i

]

! However, if this is already the Last bucket in this level, we
i didn't find the down pointer, so return saying success, since
! if ther2's no down pointer we can certainly reclaim the bucket
; on the Level below.

; .BUCKET [ BKTSV_LASTBKT )

BEGIN

! 1f this bucket is the same as the save bucket then
; don't bother to reread it

F
KE
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VAX=11 CONVERT/RECLAIM 1;-5 -1984 23:58: AX=11 Bliss=32 Vv&.0=74
16-5:3-183& 73:14:8§ CONV.SRCJ%%CLCTRL.B3Z:¥
]
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%;EﬁCTx [ CTXSL_CURRENT_VBN ] NEQU .CTX [ CTXSL_SAVE_VBN
BEGIN
; Before we return go back to where we were
CTX C CTXSL_NEXT_VBN ] = .CTX [ CTXSL_SAVE_VBN J;
; Get the saved previous bucket
RECLSSGET _NEXT_BUCKET()
END;

; Swap the suckers

RECLSSSWAP_BUFFERS();

; Get the saved bucket

RECLSSGET _NEXT_BUCKET();

; Return

EXITLOOP

ELSEEND

BEGIN

E Its not the last bucket, so go read the next bucket

RECLSSSWAP_BUFFERS();

RECLSSGET _NEXT_BUCKET()

END

END
UNTIL RECLS_FOREVER;

! We exit the Loop on sucess so return the context back to where it
; was when we were called

CTX = .CTX = CTXSK_BLN;

BUCKET = .CTX [ CTXSL_CURRENT_BUFFER J;
RETURN .STATUS

END;
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!Ax-11 lljss-SZ v4.0-76§
CONV.SRCIRECLCTRL.B32;

#*M<R2,R3,RE>
", iiﬁtu&
01‘ (BUCKET), 18

14
3(au KET), NEXT_DATA_BUCKET
4 é?x?" tzgst
68(CTX’.°8&(C!X)

VBN
RECLSSGET_DOWN_POINTER

RO, 8S
Re cLSSCHECK_LAST
RO, 3§
iritus
3s
£(c1x). &
$

NEXT DATA BUCKET
zsCngCOHPARE-POINTER

RO, &S

NEXT _DATA BUCKET
=ECL§=$UING_POINYEI

3
RECLSSREMOVE _INDEX_RECORD
RSCL;SBUCKET_EHPYV
RO, 78
8(ETX)
UPDATE_INDEX
8, SP
RO, STATUS
STATUS, 68
?sgove_auchI

4(CTX), BOCCTX)
1Y)

T
T
L
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; Routine Size: 182 bytes, Routine Base: _CONVSRECL_S + 0027

;492 0488 1
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VOG-000"  REMOVE BUCKET oMM fatiat R T T MR TR AT
9% XSBTTL 'REMOVE

BUCK;!'
ROUTINE REMOVE_BUCKET : RL$JSB_REG.9 NOVALUE =

Functional Description:
This routine takes the steps required to remove a bucket from the
horizontal chain, write it to the AVAIL List, and update the key
descriptor 1f necessary.

Calling Sequence:
REMOVE _BUCKET();

Input Parameters:
none

Implicit Inputs:
CTX to point to current bucket, etc...

Output Parameters:
none

Implicit Outputs:

The bucket is removed and written to the AVAIL list. ALl pointers
are updated.

Routine Value:
none

Routines Called:
CONVSSWRITE _KEY_DESC
RECLSSWRITE _BUCRET
ZERO_BUCKET
CONVSSWRITE_AREA_DESC

Side Effects:

RECLSGL_DATA_COUNT is incremented if we reclaim a data bucket.
RECLSGL_INDEX_COUNT is incremented if we reclaim an index bucket.

P ERS RS ERS EG SRS S S WS RS D DD DS D S - S S S S G e e W S - -

RO 2 S BBV NS NS OB TN IR = O BB TP RO SO OB IR N RO 23D

AORLPOPUADRUNI PO NIRUMN) b b b b b e d o e ol o b d e d o o o md o o e D e o) o e ) D ) el D D ) e D oD e el D o o el D D D

BEGIN

EXTERNAL
RECLSGL_DATA_COUNT
RECLSGLINDEX_COUNT;

LOCAL
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VAX=11 CONVERT/RECLAIM
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AREA_DESC : REF BLOCK [ ,BYTE J;

The removal of a bucket is done in three 1tops. he order of which
is of the utmost importance to the reliab lit! of the utility., It
is assumed that the index record for this bucket has been removed.
S
U

tep |

pdate the previous bucket pointer to point to the next one in the chain
BEGIN

LOCAL PREVIOUS_BUCKET : REF BLOCK [ ,BYTE J;

PREVIOUS _BUCKET = .CTX [ CTXSL_PREVIOUS_BUFFER J;

E Update the previous bucket in the chain

PREVIOUS _BUCKET [ BKTSL_NXTBKT J = .CTX [ CTXSL_NEXT_VBN J;

RECLSSWRITE _BUCKET( CTX [ CTXSL_PREVIOUS_BUFFER J )

END;

! Step la

! In the case that this is the first bucket in a chain then either do
! nothing or update the key descriptor, depending on the level.

|
|}
]
1
!
; Is this the first bucket in the chain
1
T

;EﬁCTX L CTXSL_CURRENT_VBN ] EQLU .CTX [ CTXSL_FIRST_VBN 1]
BEGIN
! If this is the data level bucket then update the key descriptor
; else continue
IF .BUCKET [ BKTSB_LEVEL ] EQLU 0
THEN
BEGIN
KEY_DESC [ KEYSL_LDVBN J = .CTX [ CTXSL_NEXT_VBN J;
CONVSSWRITE_KEY_DESC()
END;
; The next vbn will now be the first in the chain
CTX [ CTXSL_FIRST_VBN J = .CTX [ CTXSL_NEXT_VBN ]
END;
; Step 11

i Update the current bucket to point to the first bucket in thi area

10
LI R R

Vé6.0-74
TRL.B3Z;
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CLSCTRL VAX=11 CONVERT/RECLAIM 18-$ep-1984 23:58: AX=11 BLiss=32 V4.0=74 Page 1
V6% REMOVE _BUCKE T 12-3071080 13:30:08 Yesny sRednEciiome 250 e &S

5 available Llist
; To update the bucket we must use the area descriptor
AREA_DESC = .CONVSAR_AREA_BLOCK + ( .CTX [ CTXSB_AREA ] » AREASK_BLN );
; Point the bucket to the first avail. bucket
BUCKET [ BKTSL_NXTBKT ] = ,AREA_DESC [ AREASL_AVAIL J;
; If first bucket on free List set the last bucket bit
{;EﬁBUCKE! C BKTSL_NXTBKT ] EQLU 0

BUCKET [ BKTSV_LASTBKT ] = _SET;
; lero the data portion of the bucket
ZERO_BUCKET();
5 Write the bucket into the file
RECLSSWRITE _BUCKET( CTX [ CTXSL_CURRENT_BUFFER ] );
5 Count the reclaimed bucket.

-o§§
Y

e il e QU . )

=2 O WO NOWVE NN =2 OV ~NO NS N

oooororOrOrOMOMOMOMOMOMOMOFOOOMOFOMOMONOM

www
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WA = O V00NV WM = OV NNV S IR = OOV VIS

IR R R R e e s T A A T PR TR T P L T L L T T T R R T R R R R O R A R T L T I T,

6 IF .BUCKETC BKTSB_LEVEL J EQLU 0

2 THEN

g§z 5 Its a data bucket we're reclaiming.

639 RECLSGL_DATA_COUNT = .RECLSGL_DATA_COUNT + 1

22? S LSE

gzi ? ; Its an index bucket we're reclaiming.

g:g % ﬁECLSGL,lNDEX_COUNT = ,RECLSGL_INDEX_COUNT + 1;

6‘? 0641

22‘ 6; ; Step 111

649 4 i Update the area descriptor with the new bucket at the head of the

25? S g availiable list

25; z AREA_DESC [ AREASL_AVAIL ) = .CTX [ CTXSL_CURRENT_VBN J;

ggg Sg CONVSSWRITE _AREA_DESC( .CTX [ CTXSB_AREA ] );

659 S1 RETURN

65 S§

658 5 END;
EXTRN RECLSGL_DATA_COUNT
.EXTRN RECLSGL_INDEX_COUNT




cSEL TRL

: Routine Size:

659

VAX=11 CONVERT/RECLAIM

REMOVE _BUCKET

112 bytes,
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Routine Base:

10
1§-So -
1&-503-

52 0D 00000 REMOVE_BUCKET:
PUSHL

98¢ §2i2:88

US
4 Y 08 0 MOVL
0 M §r PUSHAB
00006 8 BSBW
064 C 1 ADDL2
08 AA ?1 14 CMPL
i 19 BNEQ
0C A9 9 18 TSTB
08 1 1 BNEQ
S0 LA g MOVL
00006 BSBW
S0 AA 1$: MOVL
01 AA 9A D 2%: MOVZBL
06 78 00031 ASHL
00006 CF C1 00035 ADDL3
08 A2 DO 00 MOVL
4 1 8 4 BNEQ
1 4 B1SB2
0000V 8 46 3%: SBW
06 AA 9F 4 PUSHAB
00006 8 4C BSEW
04 3 04F ADDL2
0cC A9 005 TSTB
06 12 0005 BNEQ
00006 8? D6 0005 INCL
4 11 00058 Bl
0000G CF 08 005D 4$: INCL
08 AA 0061 5%: MOVL
01 Ba A 00066 MOVZBL
0000G 30 0006A BSBW
04 SA 006D POPR
S 0006F RSB

_CONVSRECL_S + 000D

CONV.SR

{=¥ 1 X
—~~

4(CTX) =

(

RECLSSWRITE_BUCKET

8, SP

2(é1x). 36(CTX)

1 (BUCKET)

80(CTX)

Sgnvssuk:re KEY“DES
(CTX), 36TCTXTY

1(CTX), R

#6, RO, R
ONVSAR_AREA_BLOCK

(AREA_DESC); 8(BUCKETS

$
#1, 13(BUCKET)

?é? ?ucxer
RECLSSURITE_BUCKET
¥, SP
lgtaucxer)
g;CLSGL-DATA_COUNY
RECLSGL_INDEX_COUNT

8(CTX),"8(AREA_DESC)
1(CTX), R

couvaséu:re_AREA,oesc

#*M<R2>

AX=11 BLiss=32 v
ERECLETRL -832:

84(KEY_DESC)
ESC

AREA_DESC
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AX=11 BLiss=32 Vv4.0=74
CONV.SRCIRECLCTRL.B32;

XSBTTL '2ERO_BUCK

T
R?ETINE ZERO_BUCKE

: RLSJSB_REG_9 NOVALUE =

Functional Description:

leros out the data portion of a index bucket
Calling Sequence:

ZERO_BUCKET()

Input Parameters:
none

Implicit Inputs:
none

Output Parameters:
none

Implicit Outputs:
none

Routine Value:
none

Routines Called:
none

Side Effects:
none

BEGIN

DEFINE_CT
DEF INE_BU
DEF INE_KE

X;
CKET
Y
CHSFILL( 2
CTX

_DE §c:

' Fill with 0's
fx E CTX$W_BUCKET SIZE ] = BKT$K OVERHDSZ = 1 i This much
TX [ CTXSL_CURRENT_BUFFER ) + BKTSK_OVERHDSZ J; | Starting here
RETURN

3¢ B8 00000 ZERO_BUCKET:
1 58 AA 3¢ 00 :o3zsL a.?§¥§ 3& -
2 &5 00008 Soacst ahstTh

i

Page ‘;8
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: Routine Size:

: 709

AX=11 igg¥ERTIRECLAlH

ERO_BU

00

23 bytes,

0703 1

&

Routine Base:

te

< 4yl

~CONVSRECL_S + 014D

0

e0-1380 £2:30:38  YeuN sREIRECDENC 8304

Mov
Movs
POPR
RSB

4(CTX), R
’ f (sﬁ).ono. R1, 14(R0)

#*M<R2,R3,R4,R5>

p 9
e 1S
; 0698

: 0702
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1 cowe |-ieo-ions 3:saiz  yAKC11 BUISs-32 vi.0oT
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XSBTTL _'SWAP BUFFER

ﬂgm. ROUTINE RECLzssuAP_auneas : RLSJSB_REG_9 NOVALUE =

Functional Description:
Calling Sequence:

Input Parameters:
none

— e D D D D D D

VS AN = O O 00 NOM W S N = O O 00 N0 LSS iR —

Implicit Inputs:
none

P Y D .

W =2 OO0 NIV N = OOV 00 N VI S AN = OO0~ W

Output Parameters:
none

Implicit Outputs:
none

Routine Vvalue:
none

Routines Called:
rone

Side Effects:
none

i
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
BEGIN
DEFINE_CTX;
DEF INE BUSK
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A A ra e ra E E ra s rr a s ee e r rs a a Ta T R TR TR DR LR LR L AL A LR T T TR T P T P T P T T T T T T T T T T T T T T T T TR LR 1]

74

7464

745 ET

74 DEF INE"KEY_DE edc;

74 4

748 4 LO

749 4 TtHP BUF

4 i

;Si ;25 % Swap the current buffer with the previous buffer and change bucket
7564 74 TEMP _BUF = .CTX [ CTXSL_PREVIOUS_BUFF R ];

; b ;2 TEMPCVBN = .CTX [ CTXSL_PREVIOUS_VBN

?S? 750 CTX E CTXSL_PREVIOUS_BUFFER ] = .CTX TXSL_CURRENT_BUFF R );
;g ;g1 CTX [ CTXSL_PREVIOUS_VBN = ,CTX C! X$L_CURRENT_VBN

760 7 i cTX E CYXSL_CURRENT _BUFFER 1] = . TEMP_BUF ;

;gl ; g CTX [ CTXSL_CURRENT_VBN TEMPTV VBN:

76 7 ? BUCKET = .TEMP_BUF;

764 7

765 7 g RETURN

76; 75

76 760 END;




c CE&&&RL

SWAP_BUF FERS

VAX=11 CONVERT/RECLAIM

h-seo-108s 73s0:00

AX-11 Bliss=32 Vé.0-7%
CONY SREIRECLETRL B30+%

-

50 40 AA 7D 00000 RECLSSSWAP BUFFERS::
Mmova 64(CTX). TEMP_BUF
40 AA 04 AA 004 Mova L(CTX), 64(CTX)
06 AA go 009 Mova TEMP_BUF, 4(CTX)
59 0 2 00D MOVL  TEMP_BUF, BUCKET
0 010 RSB
; Routine Size: 17 bytes, Routine Base: _CONVSRECL_S + 0164
; 768 0761 1
;s 769 0762 0 END ELUDOM
3 PSECT SUMMARY
E Name Bytes Attributes
S _CONVSRECL_S 373 NOVEC,NOWRT, RD , EXE, SHR, LCL, REL, CON, PIC,ALIGN(2)
H Library Statistics
B b e SRR N e AT et Symbols ======- - Pages Processing
: File Total Loaded Percent Mapped Time
P _$2553DUA28:[SYSLIBILI 18619 g g 1000 00:01.8
; T$2558DUA28:[CONV.SRC) hr L32;1 165 2 1 17 00:00.
H COMMAND QUALIFIERS
; BLISS/CHECK=(FIELD,INITIAL,OPTIMIZE)/LIS=LISS:RECLCTRL/0BJ=0BJS:RECLCTRL MSRCS:RECLCTRL/UPDATE=(ENHS:RECLCTRL)
Size: 373 + 0 data bytes
Run Time: ?$$.9 d

Elapsed Time:
Lines/CPU Min:
chenelePU-nin 1
r[ Used: 103 pages
ation Complete
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